Brexe Resumen:

¢ A ?N“Hf de la 005\0\6\!\ o _L:\udw del Hem
de un ob,e puhw\a, Lone:

o ()= G K2 08) - X(E) %\ldouo\ad

Mt->0 Nt wetontanea

X
1\ Pc/\o\wﬂ-e e
. (ecka verde.
+* t

O&(JC\ \Aw\ V(e + Ot) - () ‘& 0Ceracidn

M->0 Nt instontdvea

N

1 \\/ > O(&¥):
diente do
o cecka ozv\.

| EANT
>t

A) X&) = Aoxn(wt)
= (&)= - Aw-sen(ut)

¥ Proceso Inverso:
I\ aHC de O, ¢, dmo dotener V(&)?
SN {thr AL V&), ox(k)?

~» METoDo estanpar: collandn ofeos:

t

_tl-

(a0 bns'o lo. Gorva
= N(&*)Y- Vo X(£5) - %o

. A?\i\c,o&tom.% :
1) MO ok =0, V&)= Ve.

Graicomente.

L) MRUA: o) = Qo .

= X&) = Yo + ot +Fouth

=> \l(-lc) = \,0 + 0ot

Grodicomante.:

X 00 W
Yo I/ \1.]\1
t t



